BIFROST AUTO PTE LTD

REPAIR ESTIMATE

DATE:

28-Jan-20

INSURANCE: Frist (apital

Ho spare garts

MODEL:

TOYOTA PRIUS

VEHICLE NO .:

SHC3757U

DESCRIPTION		LIST PRICE AMOUNT		
REAR TRUNK LID COVER Dented 1 15th		\$1,126.60 \$1,126.6		0
REAR TRUNK LID LOCK Dew	1	\$457.90	\$457.90	-
REAR TRUNK LID GLASS (BLACK COLOR) I Hu	1	\$1,569.70	\$1,569.70	-
REAR TRUNK LID LOGO (PRIUS) Nuc	1	\$60.80	\$60.80	-
REAR TRUNK LID LOGO (HYBRID) Nac	1	\$52.40	\$52.40	-1
REAR TRUNK LID LOGO (TOYOTA STAR) Hic	1	\$52.90	\$52.90	-
REAR BUMPER district Dental	1	\$458.60	\$458.60	-
REAR BUMPER RE-INFORCEMENT Deuten	1	\$318.80	\$318.80	-1
REAR BUMPER UNDER COVER Devel Person	1	\$552.60	\$552.60	-
REAR BUMPER SIDE RETAINER	1	\$112.70	\$112.70	- '
REAR BUMPER UNDER SIDE COVER (RH) トリム	1	\$232.00	\$232.00	
REAR BUMPER UNDER SIDE COVER (LH)	1	\$232.00	\$232.00	4
REAR BUMPER UNDER SIDE CENTRE COVER distalled	1	\$552.60	\$552.60	-
REAR BUMPER TOWING COVER SVC	1	\$82.70	\$82.70	-
REAR BUMPER CLIPS NGC	1	\$22.00	\$22.00	•
REAR BUMPER SIDE CLIP	2	\$25.00	\$50.00	4 .
ARM SUB-ASSY, REAR BUMPER, RH	1	\$139.60	\$139.60	
ARM SUB-ASSY, REAR BUMPER, LH	1	\$139.60	\$139.60	4
RETAINER, REAR BUMPER, UPPER SIDE HL	1	\$30.70	\$30.70	4 ' .
RETAINER, REAR BUMPER, SIDE, RH	1	\$94.80	\$94.80	٧
RETAINER, REAR BUMPER, SIDE, LH	1	\$94.80	\$94.80	X
SEAL, REAR BUMPER SIDE, RH	1	\$148.40	\$148.40	X
SEAL, REAR BUMPER SIDE, LH	1	\$148.40	\$148.40	4
TAIL LAMP ASSY (UPPER) To CHARLE MINE 104 MINE	2	\$557.90	\$1,115.80	-
TAIL LAMP ASSY (LOWER) Lecter Capacity	2	\$548.40	\$1,096.80	ZV
TAIL LAMP QUARTER PANEL HH	2	\$216.00	\$432.00	X
TAIL LAMP SIDE COVER NA	2	\$256.00	\$512.00	X
AMP ASSY, SIDE TURN SIGNAL, RH	1	\$65.30	\$65.30	X
AMP ASSY, SIDE TURN SIGNAL, L H	1	\$65.30	\$65.30	1
REAR END PANEL Dechi	1	\$602.10	\$602.10	
REAR END PANEL GARNISH A KILL	1	\$161.80	\$161.80	
REAR SPARE TYRE PANEL & Danton	1	\$667.70	\$667.70	
REAR SPARE TYRE CUSHION (FLR BOARD CENTRE)	1	\$101.40	\$101.40	
REAR FIBER TOOL BOX TRIM	1	\$398.00	\$398.00	
REAR EXHAUST PIPE A HA	1	\$1,163.40	\$1,163.40	87
REAR EXHAUST PIPE HANGER	1	\$40.70	\$40.70	X
REAR EXHAUST PIPE INSULATOR	1	\$314.60	\$314.60	1
REAR EXHAUST PIPE CENTRE INSULATOR HS	1	\$498.60	\$498.60	X
REAR FENDER SHIELD (LH/RH)	2	\$134.20	\$268.40	X
REAR WINDSCREEN GLASS W/ MOULDING & MAC	1	\$1,778.30	\$1,778.30	7 -
REAR WINDSCREEN SEALANT New	1	\$46.00	\$46.00	, ,

				\$0.00
REAR DOOR RUBBR SEAL O	JTER HU		\$257.90	\$0.00
PANEL SUB-ASSY, REAR DO	OR, RH HA		\$1,258.30	\$0.00
PANEL SUB-ASSY, REAR DO			\$1,258.30	\$0.00
FRONT BUMPER REINFORCE		1	\$115.70	\$115.70
FRONT BUMPER LOWER REI		1	\$330.00	
FRONT BUMPER SPONGE		1	\$78.80	\$78.80
FRONT BUMPER CENTRE GR		1	\$301.90	\$301.90
FRONT BUMPER LOWER GRI		1	\$148.60	\$148.60
FRONT BUMPER CLIPS Have		1	\$22.00	\$22.00
FRONT BUMPER SIDE RETAIL		2	\$77.00	\$154.00
REINFORCEMENT, FRONT BU		1	\$236.10	\$236.10
BRACKET, FRONT BUMPER E		1	\$110.40	\$110.40
SUPPORT FR BUMPER, RH		1	\$81.70	
SUPPORT FR BUMPER, LH		1		\$81.70
FRONT BUMPER CENTRE FR			\$81.70	\$81.70
BRACKET, FRONT BUMPER S		1	\$236.90	\$236.90
BRACKET, FRONT BUMPER S		1	\$82.30	\$82.30
BRACKET, FRONT BUMPER N		1	\$82.30	\$82.30
BRACKET, FRONT BUMPER I		1	\$29.60	\$29.60
		1	\$97.80	\$97.80
ABSORBER, FRONT BUMPER		1	\$127.70	\$127.70
UNIT ASSY, HEADLAMP, RH (LED) money area pas) 1	\$3,455.00	\$3,455.00
UNIT ASSY, HEADLAMP, LH (L	ED) wondy crac Photo	/ 1	\$3,455.00	\$3,455.00
HEAD LAMP PANEL (RH)		1	\$240.10	\$240.10
HEAD LAMP PANEL (LH)		1	\$240.10	\$240.10
TOP PANEL CENTRE		1	\$364.98	\$364.98
FOR PANEL SIDE		1	\$145.90	\$145.90
TOP PANEL SIDE		1	\$145.90	\$145.90
BRACE PANEL HA		1	\$75.20	\$75.20
BRACKET, HEADLAMP MOUN		1	\$25.50	\$25.50
BRACKET, HEADLAMP MOUN	TING, LH	1	\$25.50	\$25.50
SUB TOTAL	15323.80			\$28,271.78
LESS 20% 25%				\$5,654.36
DISCOUNTED TOTAL	11492.85			\$22,617.42
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
RONT NO. PLATE Vet	Nett	1	\$25.00	\$25.00
	NT NO. PLATE TRIM COVER ₺† Nett		\$30.00	\$30.00
RONT NO. PLATE GARNISH	GARNISH OUSTWALL Nett		\$99.00	\$99.00
RONT BUMPER LOGO	ONT BUMPER LOGO DOKEN Nett		\$87.10	\$87.10
REAR BUMPER REVERSE SEI	NSOR Dem Nett	1	\$135.70	\$135.70
REAR NO. PLATE WITH TRIM	REAR NO. PLATE WITH TRIM COVER MA Nett		\$100.00	\$100.00
REAR TRUNK LID APPS STICK		1	\$40.00	\$40.00
	EAR TRUNK LID COMFORT & TEL NO. STICKER Hus Nett		\$60.00	\$60.00
		1	730.00	+30.00
SUB TOTAL	F66.80			\$576.80
IOIAL	*			\$576.8U

	1		
1	\$1,500.00	\$1,500.00	91
1	\$1,500.00	\$1,500.00	90
1	\$120.00	\$120.00	3
1	\$200.00	\$200.00	4
1	\$50.00	\$50.00	Z
1	\$150.00	\$150.00	8
1	\$120.00	\$120.00	8
1	\$120.00	\$120.00	4
1	\$150.00	\$150.00	H
1	\$150.00	\$150.00	60
1	\$90.00	\$90.00	H
1	\$150.00	\$150.00	H
1	\$550.00	\$550.00	H
		\$4,850.00	
		\$28,044.22	
	1 1 1 1 1 1 1 1 1 1 1 1	1 \$1,500.00 1 \$120.00 1 \$200.00 1 \$50.00 1 \$150.00 1 \$120.00 1 \$150.00 1 \$150.00 1 \$150.00 1 \$150.00 1 \$150.00 1 \$150.00	1 \$1,500.00 \$1,500.00 1 \$120.00 \$120.00 1 \$200.00 \$200.00 1 \$50.00 \$50.00 1 \$150.00 \$150.00 1 \$120.00 \$120.00 1 \$150.00 \$150.00 1 \$150.00 \$150.00 1 \$90.00 \$90.00 1 \$150.00 \$150.00 1 \$550.00 \$550.00

This is an initial estimate based on a visual inspection of the above vehicle. The final repair quantum will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance

30/01/2020 @ 0945hs

14089.65

Supp 7063.72

21153.37

45 16900/

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis

36,420.62#

- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

BIFROST AUTO PTE LTD

REPAIR ESTIMATE

	٨.	т		
\cup	А	1	ᆮ	

29-Feb-20

INSURANCE: PIVET COILL

MODEL:

TOYOTA PRIUS

VEHICLE NO.:

SHC3757U

DESCRIPTION	QTY	LIST PRICE	AMOUNT
REAR TRUNK LID LAMP money broken crack	2	\$636.80	\$1,273.60
REAR TRUNK LID OUTER GARNISH Deuten Crank	1	\$2,237.50	\$2,237.50
FRONT BUMPER COVER oustand I monty crack	1	\$1,373.20	\$1,373.20
REAR TAILLAMP UPPER Mounty Chale	2	\$673.50	\$1,347.00
REAR TAILLAMP LOWER Scrarens / cut	2	\$614.70	\$1,229.40
REAR BUMPER LOWER COVER GARNISH TOWN Deuton		\$1,957.60	\$1,957.60
SUB TOTAL			\$9,418.30
LESS 20% 25%			\$1,883.66
DISCOUNTED TOTAL			\$7,534.64
		-	
ESTIMATE TOTAL			\$7,534.64
LOTHIN/TE TO THE			

will be prepared after the vehicle is surveyed by a motor Surveyor appointed by the insurance

you >

7063.72

